Seat No. :

AJ-138
April-2015
S.Y.B.Com., (Annual Pattern)
Cost Accounting
[Advanced Accountancy & Auditing-1I]

Time : 3 Hours] [Max. Marks : 70
dad: (1) wHell ooyl 2isst uss del sald €.

(2) %331 2ARATA el ¢z sldl.

L. () usdr (sl ugla 24 Awusla [Baell wgladl dsiad e s, 6
() s siRvitAl Bautest (ool Al wledl qaami 2udl ¢ : 4
ERN SIHEIR AvAL
(1wl a3 AL sHERL 1520
(2) U WA WAL SRVl 9L aal 320

sIHelR1AL vl

(3) 0y WAL gd sHeRlHL [Raes 400

@ Adl @oul wR s2dl [Hagsl 200

Horz 30iedl el [HuaLs ugld i AYsd ugla wHBl 492 361edl &2 Ml
(5) WA M-l azdidul est vy Sl w72 (Bdlels)l @l 10,000 [Bal

Hid 254 Sl

W Al dl 5, 8 i 2241 A% s 2000 [Bal, 5000 (el 24 10,000

[Betl M1e 2458 T5, 36 2 T 7+ old vledldl 2l gdl.

Bauled Ml s A umiel edl :

dl. 12113 16,000 [3al

dt. 28 312 10,000 (34l

s WAl BHd 20l HIRd A1 Uald u-diaaiil »ud dl ges wds e

HSALAL vid @5 Hedis s 4

24

AJ-138 1 P.T.O.



1. ) [l vio[HyloAr Ausididl dl. 30-09. 20141 A% YA Adi 9 HHdl

(e)

AJ-138

Yledl Ayl 1ol 2ud ¢

ER Gewen [acudul A [@ewau
) ) 5 3 )
INERLC] @) 7,000 | 6,000] 5,000| 1,000| 1,000
e HaM () 3,000 | 2,500 | 2,000| 1,500 | 1,000
s{aF) vl 200 150 150 50 50
QLoyoll [Balale 8,000 | 6000 | 6000| 2000| 3000
fLogoll-l uiSwe vyl 10 15 15 5 5
[Hasdl yeu Tl 50,000 | 30,000 | 20,000 | 10,000 | 10,000
Al wour (Al.HleMl) 800 600 600 200 200
¢9 Hlerl el Wl A wHwel ¢
z z
22l wRie vl 400 | 4A1R1 6,000
YlaR 1,500 | RURaL — Mewawa 1,200
Sasdls dlogoll ol 2,000 | 1ML ue W 10,000
SIMEIR SRl vl 3000 | ¢1§ — $RdRL 600

Adl [Qewel Gautet [Qeweid 2 wHiel Adl 20U 9, d-l wAlHl siaell qd

yHeL sal-dl ¢

) o 5
Adl Qe — ¢ 0% | 40%| 20 %
Al [aewal — ¢ 40%| 30%| 30%

siael-l 2uaR weudl, vidia vl siasll ealad s dar s
A2l Ml 2081 AR sa1s el 2Ll 52U
ENE]

Yl [(BHq
4ot olsarll vl

UYL 2d vielwd ¢our Bud (2uys 15 a)
SIRVAL, HIE-A (HURLS)
Ao el dde el vl (alls)

Aot lH-lBas (alls)

AR GRsa) quia (alls)
SIR0AL YURALSHAL WOLR (HIRS)
RuREoL 2t Menaviad (lls)
ulgR-lL auRlal sdLsels 10 yHe,
ulgR-L 100 y[He-l &2

9 Y €.

Aol S1RviALAL S8 UL 1/4 [25%] MLl 20Ul A% 9. w1 YURADHR Uldlrl

1 . .
AHYAL 3 3L (20%) 4 qoAd 51019, €9,

2

4

1,00,000
10,000
5,000
200

200

960
1,000
600
1,000

20
ielwd Alls S1HAL sAsl 2200. BHL 200 sALSHL ALROL Y AHAAL A9

7



2. Al usial Su-l-l Gewteddl 254 els uddr -l uMiel o ¢ 14

HIAAHLA YR w54 els T 26
HogRl s 26T 15

s1Rv1AL uRlA WAl ucg 1yl 60%

adladl vl siRvilAl Yid-l 20%

AueL vl is4els T 6.00 dvl dARLAUML 2Ud €.

usdel [Sueiml dul Hddl 23. sl Bud 2isugls 45 dul auisdl 2udl .

Suslldl dl. 31-12-2014 <L 1% YL Adi Al duR 2t Asl-qsad vid 12 uHel o ¢

dl. 31-12-2014 -l Y YL 4di Al duR 24 5151 Vg

€ of
ERI) 5M EEI) 5M
4 4
A3. 22s (500 vsHlL &35 17,500 | Q2L (10,250 7,17,500
735 -l (Bua) i5UL)
HIQAHIA AURLYL 2,60,000 | v 228 12,500
el 1,50,000 | (250 2AsMl €35
750+ (5q)

SRVULALL uie vl 94,750
s1AL sl 2,07,750

7,30,000 7,30,000
qéladl vl 1,06,000 | 51400 -8l 2,07,750
qRL vl 55,000 | 1% 250
Ylavile 4,000 | e11$ 10,000
walis wal 5,000
vy 5] 48,000

2,18,000 2,18,000

AUl s

(1) 31-12-2014 A% YU Adi a¥lef wsdl [Balell 3ol Asl-qsu1 ealad uais.
(2)  UsdRl [Baell 4 Aeusla [Bael Yol salda sl aasll calad uas.

YAl
2. Al s AAaFloe Sudl [ wididl wsddl vidiadl 2uuHll wglazl v ©.
dl. 31-12-20140 A% AxAl W3dl vidiagl Al auglai sald ¢ : 14
EEI) Gurk @) | ¥ )
HAAMLAL vidlad] [HEmeL vid 2,20,000 —
A1, 514 vild 26,000 -
duR M vidladl [ vid 1,20,000 -
ALY, viLdladl satal vild - 3,66,000
3,66,000 | 3,66,000

AJ-138

P.T.O.



dl. 31-12-2014+1 A% YL Adi @il Aagil {2 Yoo gdl

ERR
HldALHL WL
Bl 0L U UG HIAAIHLA
Baulerl 190 2AUA YR HIAAMLA
g 1yl
ula 1oyl
VRV Y5Ad SIRVALAL vl
vRUR Asdd B vl

Geuled vild GUIRA SIRVLALAL YR8 WAl

[BAAL uRlg vl ayeld
Adl HidHdl usd

AUIR WA vid 4 UL
SHI)

Gu-l [QoLdlAl 2uaR wdd -l vidlagli %330 viidl vl A4 512 A3y, el-ldl.

3. s WA 20147 ML 1,000 219uRLS2A oAl i d24L d-l 2014+ Q¥AL QUIR
e A5l vildidl diRly A Yot ©

ELNEY)
2,10,000
1,50,000

30,000
20,000
4,000
12,000
12,800
44,000
13,000
1,90,000

2,20,000
2,40,000

ENE] 254 ENE] 254
4 4

Hd 1AL ysdz 80,000 | d8l 4,00,000
s 1yl 1,20,000
Geulet vl 50,000
sl sl 1,50,000

4,00,000 4,00,000
AL Adladl vl 90,000 | s14l sl 1,50,000
ARl vl 30,000 | 29101 @lAl
Ylvoll A5l 30,000

1,50,000 1,50,000

AJ-138 4

14



20151 Ay M2 12 ool il sleaAMl 2uda ¢ ¢
(¥) Geuled i d2AeL 1200 21U, 2.
(61) 20UGL aY scll HIAALHIAAL FHIHL 20% AHIRL 24l
(5) UYL &R 5% d4al.
(3)  Gedler WAL MR A HYIAL Y5 vilAL UHIRIHE A41R) Sl
(9) 2isH €ls duRlL vl F512 29l Ll
(A5)211 AL GauledHl quiRll 2142 29 €l
ARl (BHd U2 10% <5l 1ol d Jld ad g3l eAidal etsuded sul oud
duql d salad usts dulr s

YAl
3. ded sl s sAR T 70,00,000 ML A 9. % sARA ARlw 1-4-2013  edl
dl. 31-3-2014 L A% 12 Yool elslzil woll 2ud o - 14
EEI) 5Y
4

Hld 2eLs 70,000
Yo (BRAURL olle) 1,50,000
ysqat-l elLsl vl 40,000
5RA BUMAR, MLd 12,00,000
(Bt wHLBLd 514 1,80,000
AlY, 514 (AAIHA A51) 1,00,000
2014-15 -1t @l e Rl sl DA yoor ©

Hisdd W 9,00,000
Ysde YaUR 3,40,000
Y YU WAl 40,000
ule vl 40,000
HisAd v 4L (dl. 1-10-2014) 1,00,000
ML e YRd 10,000
52AAL @0l AREA 9,000
520l ol uael AL wHe At (dl. 31-3-2015) 95,000
dl. 31-3-2015-1 -l cudlai D2 Yoo sdl -

Yy 225 30,000
ysqt-l elLsl vl 20,000
[BrauHLdid 511 2,50,000
HAY 2SS 20,00,000

hY A\

g2 A¥ UWMURLA Sl 80% 251 UHISL e slul. RUss Wad 9. 4 U gadl dl
oLsl-l Fd 10% sARL 20 €.

GuRAsd [Ao1dl udl 2014-151 A Hied, s2AR vid dUR 52U A5l 2/3, HolA
A5l HIRRL ASl-45A1 vild 4 gLl €.

AJ-138 5 P.T.O.



4. (@) YA sudl (& A3dll ugdr ugladl Gualol 52 . Su-l-l ergesiall 1Al

4. () [FowL araule 5. 40 (Bl aioll 218 dsl Wl elstadl o ol & e3sl Bud
Z 22,00,000 9, d-l Guuldl 52 9. e35 ol olour (3ud 10 Al ielw
YR id T 2,80,000 vistaAi 2udl 9. 1A 2 dellrd vl i w1y
[Gordl uell dA-w? (Bl €ls wsd a4 eudi-dl 2uas Gu 50% sl A d
Ad U WAl 25001l YAaL5TL Hienl o sl 54+l dR1dl s

AJ-138

Yledl daaaii 2udl ¢ :

YU HIAAULHLA
UHE HYRl :
4ot [AeoL (12,000 sALS)
313l (4oL (10000 ScLs)
sRVUAL [DR1Z] wal
4ot [AcioL (12000 s4LS)
313l (4™ (10000 5ELS)
aéladl BRI wal
el [AR1uI) wal
[azel BRI wal
ABAR] 52U :

(1) W st AR RRIWFL WA usts el 2L wua AARLHI

4

1,89,000

1,44,000

2,64,600
1,56,400

4
5,97,000

3,33,000

4,20,000
2,70,000
2,43,000
1,86,300

(2R vial qyeld-l e dLRlal Miedl IR AUl

Gi) 2 d 2ela RIRIMIL waldl 202 AL %6t 00 UsdAL ety sl

5 ¢
YU HIAALHLA

() 25 (3l % 50.40 (3allels

() 15 (3al % 60.00 (3allels
Uds 1yl ¢

SR EICTR) 30 54l

stel [aeual 42 $4L5

U]

Ll vl Alils 3% avt exs QiAlL Alls 2a

A 012 L (Al o e HIRLs)
£25 ol AURlS 1R A vl

£35 ol 3L0ARAL WauR (MUlAs)
£25 Ol s352-L WaLR (MURLS)
aéladl wal (eid oy Hedl) (uks)
e 2 2USa (100 (L. €ls)

E35 ol 85 2l duld ARRAW 50 YA A A0 el R Fcll-wALadl-l

Alul 524l el A2 25 [Baal o elstadl.

6

4
42,000

24,000
60,000
18,000
12,000
96,000

1,000

9

9



(6) &5t dvil : (A d As) 5
(1) vawlsord x4 Lol wdd? ugld 92 dslad e s
(2) A U3dR Uglarl sluel wrudl.

5. ) o d ol 2wl s 6
(1) AL ledl vl 2ulls az€l el iyl :
alls auia 45000 1541
w54 el (o 210
sy gls dlul v 20.90
sy gls Uy W 30.30
sy gls Ry vl 30.30
€25 drel Ysal-dl W Z 10
(2) s SRR 4B sals 2 i uRle vl [@ordl A wael ¢
dx seusl wia v
4
21,600 75,600
33,600 93,600
24,000 81,000
30,000 90,000

Gul Hiledl uedl Rz ula vl 263 Akl
(3)  RUY GUR S1H sl s SIFPIR s 511 Y3 SAL HI2 9 SISl AHYL A ©
i uReuH UHIEL ddedl Fd Yol siu sl 9 sALsHl AHA A 9. d-ll
gL WAUR 1 selsl 225 9. Yelaedl HiauAdldl (Bud T400 © ¢4
sIRviAL Ul Al Al WAl 150% Hael dye saMl 2d €.
Uelat-dl siRvilAl 4sd s1ddd- ugla usiel ol
(e) {12 2u0al el usAlAL 215 sl ay wdiol wwL 9, d WSl s5d s % walol
ALAL €9, dHIR o AL Falet wWHdlAl €9 : (I d AR) 8
(1) u3dAL (el Horordl vz 356,000 9 i 1idl adie wiadl T 4,000 ¢,
ol Aeusla [Baell youor vile sedl asl ?
(@) 56,000 (b) % 60,000
(¢) 52,000 (d) 64,000

AJ-138 7 P.T.O.



AJ-138

2

3)

4

(&)

(6)

A2 Ul suL vl dledAasiz Gellol Hie Raz w3l aruy 9 2

(a vald (b) 2w 2UTd

(c) Aldu~y 3l (d) =URl

61 AslAd [Suell A UL sAL vl GUR 44, GUR Y5l 249 €9 ?
(a) Hd [(Hasd-l vildl

(b)  A[3ddLd vilcl

(c) Guar WAL Vil

(d)  Guariel A3y &l

AAAl el ot . 701 He vl vudl 9. UUA AWM T
20,000 g 431 T 40,000 slRvilel Ul vl HYIAL 60%, d vl
SIRVAL UsdReL 20%, 23+l ARl (Hd uR 20% sl il . dl
Aoidl 22 [Bud 59 ol ?

(@) ¥1,29,600 (b) T 1,44,000

(¢) 129,660 (d) ¥ 1,26,000

A Vs SIRVLAML 25,000 sl WU GAuled Y Sld v olg2 Yol
30,000 5L Gculed Hle Rar v T 5 (254 €ls) 58l 2ul ¢ld dl
VRUR GeUled Ml wisH els [RuR v dedl sy 2

(a) ¥6.00 (b) ¥ 5.00

(c) T4.00 (d)  Gu-uidl 23y Al

s 5AR Ul T 1,60,000 Hi wled viA Ao YR T 40,000 HARL olte sul

uedl 3 1,00,000 1 dAdl A5L-4sal vl Sedl 254 GaiRlal ?

(@ 30,000 (b) 10,000
(c) ¥ 40,000 (d)  Gua-liel pAsuel el
8



Seat No. :
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Cost Accounting
[Advanced Accountancy & Auditing-II]

Time : 3 Hours] [Max. Marks : 70

Instructions : (1) Figure at the right shows marks.

(2) Show your working as a part of your answer.

1.  (A) State the difference between Cost Accounting System and Financial Accounting
System. 6
(B) Following information is abstracted from the books of a factory : 4
Particulars Number of
workers
(1)  Workers at the beginning of the month : 1520
(2)  No. of workers who left during same month 320
(3)  Total workers appointed during same the month 400
(4)  No. of workers newly appointed on new post. 200

©

AJ-138

Calculate labour turnover rate by replacement method and joint method.

In the beginning of the month of March Alfa Mfg. Co. Ltd. had stock of material
of 10,000 kgs of T 2 per kg. On 5%, 8" and 22" March, company purchased
2000 kgs, 5000 kgs and 10,000 kgs material at the rates of ¥ 5, ¥ 6 and X 7
respectively.

Issue of material for production was as follow : 4
On 12" March 16,000 kgs.
On 28" March 10,000 kgs.

Evaluate each issue of material and value of stock at the end of the month as per
weighed average method.

OR

9 P.T.O.



1.

six months ending on 30" September, 2014.

Particulars Production Dept. Service Dept.
A B C D E

Direct Wages () 7,000 | 6,000 | 5,000| 1,000 | 1,000
Direct material (%) 3,000 | 2,500 | 2,000 | 1,500 | 1,000
No. of workers 200 150 150 50 50
Electricity kW 8000 | 6000 | 6000 | 2000| 3000
No. of light points 10 15 15 5 5
Value of assets (%) 50,000 | 30,000 | 20,000 | 10,000 | 10,000
Area occupied (sq. mts.) 800 600 600 200 200

Expenses during 6 months were as follow :

(A) Following information is available from the books of Divya Engineering Co. for

3 3
Stores indirect expenses 400 | Depreciation 6,000
Power 1,500 | Repairing and maintenance 1,200
Elec. lights 2,000 | General indirect expenses 10,000
Workers Welfare Expenses | 3,000 | Rent — taxes 600

Prepare a statement showing departmental distribution of expenses showing basis

for apportionment.
(B) Calculate machine hour rate on the basis of following information :

Service departments provides services to the production departments as under.

Expenses of service departments are to be apportioned in their proportion.
A B C
Service dept. D 40% | 40% | 20 %
Service dept. E 40% | 30% | 30%

Particulars L4

Value of machine 1,00,000
Expenses of establishment of machine 10,000
Estimated scrap value of machine at the end of life (15 years) 5,000
Rent of Factory (monthly) 200
Lighting facility expenses for machine (Annual) 200
Insurance premium of machine (Annual) 960
Chemical used (Annual) 1,000
Factory Supervisor’s salary (monthly) 600
Repairs and maintenance (Annual) 1,000
Consumption of power 10 units/hr.,

Rate of 100 units of power 20

Estimated (yearly) working hours are 2200 hrs. (including setting up time of 200 hours].
1
Machine occupies 1/4 [25%] area of factory. Supervisor provides 5 part (20%) of

his time to this machine.

AJ-138 10
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Cost per unit of the production of Prakash Co. is as under : 14
Material cost Per unit < 26
Wages Per unit T 15
Factory indirect expenses are 60% of direct wages.
Administrative indirect expenses are 20% of factory cost.
Selling expenses are I 6.00 per unit.
Opening stock of finished goods were valued at ¥ 45 per unit.
The trading and Profit & Loss Account for the year ended on 31-12-2014 is as follow :
Trading and Profit & Loss Account for the year ending on 31-12-14
Dr. Cr.
Particulars Amount Particulars Amount
3 3
Opening stock (500 units 17,500 | By Sales (10250 units) 7,17,500
at T 35 per unit)
Consumption of material 2,60,000 Closing stock (250 12,500
units at cost of I 50
per unit)
Wages 1,50,000
Factory indirect expenses 94,750
Gross profit 2,07,750
7,30,000 7,30,000
Administrative expenses 1,06,000 | By Gross profit 2,07,750
Selling expenses 55,000 Interest 250
Bad debt 4,000 Rent 10,000
Preliminary expenses 5,000
Net profit 48,000
2,18,000 2,18,000
Prepare :
(1) A statement of cost showing profit or loss for the year ending on 31-12-2014.
(2) A statement of reconciliation between profits shown by cost sheet and financial
accounts.
OR
Vikas Engineering Co. Ltd. keeps their costing ledger on self balancing system.
Following are the balances as per their costing ledger as on dt. 31-12-2014. 14
Particulars Debit Credit
3 3
To, Material ledger control Account 2,20,000 -
”  Work in progress Account 26,000 -
”  Finished goods Ledger Control Account 1,20,000 -
” General Ledger Control Account - 3,66,000
3,66,000 3,66,000
AJ-138 11 P.T.O.



Following were the transactions during the year ending on 31-12-2014 :

Amount
Particulars
®)

Purchase of material 2,10,000
Direct material issued for production 1,50,000
Indirect material issued for production 30,000
Direct wages 20,000
Indirect wages 4,000
Factory expenses actually paid 12,000
Office expenses actually paid 12,800
Production indirect expenses debited to

production account 44,000
Office indirect expenses recovered 13,000
Cost of goods sold 1,90,000
Goods transferred to finished stock account 2,20,000
Sales 2,40,000

Prepare necessary accounts in cost ledger from above information and prepare Trial
Balance.

3. One firm prepared 1000 typewriters and sold during the year 2014. Following is the

summary of Trading and Profit & Loss Account : 14
Particulars Amount Particulars Amount
4 4

Cost of material 80,000 | Sales 4,00,000
Direct wages 1,20,000
Production expenses 50,000
Gross profit 1,50,000

4,00,000 4,00,000
General Administrative expenses 90,000 | Gross profit B/F 1,50,000
Selling expenses 30,000
Net Profit 30,000

1,50,000 1,50,000

AJ-138 12



Following estimation was made for the year 2015 :

(a) Production and sales of typerwriters will be of 1200 units.

(b) Price of material will increase by 20% as compare to earlier year.
(c) Rate labour will rise by 5%.

(d) Production expenses will increase in proportion of combined cost of material and
wages.

(e) There will be no change in per unit selling expenses.
(f)  Other expenses will not have change due to increase in production.

Prepare a statement showing selling price to get 10% profit on sales for the units
produced during the year.

OR
3. Vandan Corporation took a contract for I 70,00,000. Date of contract was 1-4-2013.
Following balances are available on 31-3-2014 : 14
Particulars Amount
4

Stock of material 70,000
Machine (after depreciation) 1,50,000
Outstanding salary 40,000
Contractees account 12,00,000
Work-uncertified 1,80,000
Work in progress (reserve profit) 1,00,000
Information for the year 2014-15 is as follows :

Material sent 9,00,000
Salary paid 3,40,000
Other direct expenses 40,000
Indirect expenses 40,000
Special Machine sent (on 1-10-2014) 1,00,000
Goods returned to stores 10,000
Material stolen from the contract site 9,000
Machine destroyed on the contract site by fire (31-3-2015) 95,000
Balances on 31-3-2015 were as follow :

Stock of material 30,000
Unpaid Salary 20,000
Work-uncertified 2,50,000
Cash received 20,00,000

Vandan Corporation receives cash at 80% of work certified every year. Depreciation is
charged at 10% on written down value method.

From above information, prepare Contract Account for the year 2014-15, 2/3 profit on
the basis of cash received is to be transferred to Profit and Loss Account.

AJ-138 13 P.T.O.



4. (A

4. (A

AJ-138

Suvas Co. Ltd. have adopted absorption costing system. Following information is
obtained from the budges of the company :

4 4
Direct material 5,97,000
Direct Wages :
Machinery dept. [12,000 hrs] 1,89,000

Assembling dept. [10000 hrs.] 1,44,000 3,33,000
Factory overheads :

Machinery dept. (12000 hrs.) 2,64,600

Assembling dept. (10000 hrs.) 1,56,400 4,20,000
Administrative overheads 2,70,000
Selling overheads 2,43,000
Distribution overheads 1,86,3000

Calculate :
(i)  Prepare a statement of overhead expenditure using given data. Where state
the basis for calculating recovery rate of overheads in given situation.
(i1)  On the basis of above calculation make an estimate for the cost of following
job:
Direct material :
(a) 25kgs @ % 50.40 per kg.
(b) 15kgs @ % 60.00 per kg
Direct wages :
Machinery dept. 30 hrs.
Assembling dept. 42 hrs.
OR
Sigma transport Co. uses two buses each costing I 22,00,000 for running one way
40 km long distance. Each bus has estimated scrap value of ¥ 2,80,000 at the end
of esti. life of 10 years. On the basis of following estimated expenditure and other
information, calculate passenger kilometer cost and state the fair required to be

charged to the passenger to get 50% profit on income of fair.
4

Expenditure of Insurance @ 3% Annual tax per year 42,000
Rent of Garage (for two buses monthly) 24,000
Annual maintenance of each bus 60,000
Salary of driver of each bus (monthly) 18,000
Salary of conductor of each bus (monthly) 12,000
Monthly administrative expenses (for both the buses) 96,000
Diesel and oil (per 100 km) 1,000

Each bus carries 50 passengers for every trip and per day each bus is running for
four round trip. [to & from]
Buses are running for 25 days in a month.

14
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(B) Write short note : (Any one) 5
(1) Difference between traditional costing system and ABC costing system.

(2) State advantages of uniform costing system.

5. (A) Calculate any two from following : 6
(1) Calculate economic order quantity :
Annual consumption 45000 units
Price per unit %10
Insurance per unit % 0.90
Interest per unit % 0.30
Storage exp. per unit % 0.30
Order cost (per order) 10
(2) The information of machine ar. rate and overheads expenses of a factory is
as follow :
Machine Hours Indirect Expenses
®)
21,600 75,600
33,600 93,600
24,000 81,000
30,000 90,000

Calculate amount of fixed indirect expenses from above information.

(3) A worker takes 9 hrs. to complete a work on per day wage system and he
takes 6 hrs. to complete same work as per result base wage system. He gets
salary per day at ¥ 25 per hr. Calculate factory cost of a product as per piece
rate wage system when consumption of material is ¥ 400. Factory
overheads are absorbed at 150% of direct wages.

(B) For each of the following sub-question more than one answer is given. Out of
which only one answer is correct. You are required to select the correct answer
with necessary explanation. (Any four) 8

(1) The loss as per costing records is of ¥ 56,000; amount of goodwill written
off is ¥ 4,000 then loss as per financial accounts will be

(a) 56,000 (b)y 60,000
(¢) 52,000 (d) 64,000

AJ-138 15 P.T.O.
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2)

3)

“4)

(&)

(6)

Out of following expenses which expenditure is treated as fixed expenditure
for transportation business ?

(a) Petrol (b) Engine oil
(c) Licence fees (d) Depreciation

Which of the following accounts are given more weightage in non-
integrated accounts ?

(a) Real accounts

(b)  Personal accounts

(c) Income expenditure accounts
(d) None of the above

Following information is for the job No. 701. Direct material I 20,000,
Direct wages ¥ 40,000. Factory expenses are at 60% of wages. Other
expenses are 20% of factory cost, profit should be 20% on tender price. In
such a case what will be the tender price ?

(a) < 1,29,600 (b) < 1,44,000
() < 1,29,660 (d) < 1,26,000

The actual production of a factory is of 25,000 units fixed expenditure per
unit as per budgeted production of 30,000 units is ¥ 5 per unit. What will be
the fixed expenditure per unit for actual production ?

(a) T6.00 (b) T5.00
(c) T4.00 (d) None of the above

A special machine which purchased for a contract at ¥ 1,60,000 was sold for
T 1,00,000 after charging depreciation of I 40,000. What will be the amount
which should be debited to profit and loss account ?

(a) 30,000 (b) % 10,000
(c) 40,000 (d) None of the above
16



